wWss RFIN&REE T

P R A

WSS 21 0 4 Ja8 T FE T — Al & PR BE I B A A 3% o X4 iR B v ] DA B &
R A A I FE P -80°C ~+500°C T B UM 2SRRI .

F B

W ENRE, EWTE; Z4aniE, ARG

ZREE e, A A FZER,

TAE R

_ W& B IRFE T RS T Seh RS iR 0 8 A LR — it 2 AR AR I, 7 Bh R e
TAEAERAE o BT R R B A

HARZH

PAT IR E

JB/T8803-1998 GB3836-83

Hihz%

FREERAFRE : 60, 100, 150

FEES%S%: (1.0), 1.5

o SIS (] <408

Bidr &4 IP55

FAREARAR 2 AR 2 N AN 2R 1.0%

o] 22 X4 R P T B] 22 AN KT JE AR ZE BR 1 8 i

H M SRR T T AR R VG RS K T AR ZE PR XHE T 1/2
DR T

S iE VG

M B C S
Tk wEk LR E. N

-80~+40 \ \

-40~+80 \ \



http://www.china-suke.com/product-wd.html

0~50 v v
0~100 v v
0~150 v v
0~200 v v
0~300 v v
0~400 v v
0~500 v v
IEH TAERASKM
TAES R HEC FHXT IR %
il -25~+55 5~100
J A5 -40~+85 5~100
W i X
-
' L T | | {5
.
—
' Ty [ [T}
HME B R F
B A B C E L d
65 23 73 -
il ) 234 105 23 73 - 75
155 23 73 - 100
65 50 110 34 150
el A 105 50  |110 34 200 o6
300 »8
105 50 110 34 400 ©10
P 105 23 85 - 500
155 23 85 - 750
—_— 105 23 178 120 1000
155 23 178 120




(el

= ol
e 1A
_ v 90* B
n _
C [
L b | °
C < T
L " |
L
L
15° % Ji 1oy 5
2 AEF e
] FAMB LU 2k
M H |sw |d
M16x1.5 12 |18
M20x1.5 16 |22
M27x2 20 |30 06
D8
NPT1/4 15 |18 ©10 SH
NPT1/2 19 |22
NPT3/4 25 |30
A] B IR LU 3k
M H [sw [d
M16x1.5 12 18
M20x1.5 16 |22 06
M27x2 20 30 »8
NPT1/4 15 18 ®10
SW
NPT1/2 19 |22

L

T 40 90 M 0 48 5k

i

— ] f—

1
Y 2 A 4 0 5

—



Tt

=

T
el a
8 5E ¥ U3 3

L

NPT3/4 25 30
[l 2 IR EUE Bk
M H sw |d
M16x1.5 12 18
M20x1.5 16 |22
M27x2 20 po [®®
8
NPT1/4 15 18 oo
NPT1/2 19 |22
NPT3/4 25 30
FEIRGEEL
M H |sw [
M12x1.5 15 |19 |06
M16x1.5 15 22 |08
M20x1.5 16 24 (010

SW

et ] b

|
AN

1 R






W R Bk

[ S &EmMmikdt

LS BB HEREBA

wRANTHER
3 60
4 100
5 150

i & AE

0 s (BE)

1 @ (AE)

2 135" rq ($HFARY)
8 A (AR

REBTER
0 EEERE
1 A Eh SR
2 ajZh AR
3 [FERL
4 EEE=
5 FERLY
6 FEEZ

PrtP Rz

% (RIRE) HiAad
W Bhip A
F 75 i &

w s s 4 8 1 w MBIR SRR






